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PreCalculus 13-14 Name:__~ O J Tl Vf@

Take-Home Midterm J

Dr. Quattrin Score

CALCULATOR ALLOWED

Round to 3 decimal places. Show all work.

1. Find the equations of the lines tangent and normal to

y=lx4 P1oi2x20057 atx= -1.
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2. Find all zeros, algebraically, of f(x)=-x*+x>+41x>-105x.
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3. Find an inequality that has this sign pattern and solution:

Y , +0-0-0+0+0-
X S5 2 }5 7 13

y’
and x € (—eo,~5]U{-2}U[9]13]

@;’?_G(*S\ (\c—n,\% (2\( ~) (}q -?)L(K-»\‘Q

4.  Write an equation of a rational function that has x—intercepts at (-3, 0), VA

atx =35, a POE at x =-2, and a HA at y=-g.
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5.  Solve this inequality: 0 < G =2)(x+1) -
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6.  Find the extreme values of y= -;-x“ -x
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-9x2 +27x, algebraically.
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7. Find VAs, HA, POEs and zeros of y=

5(9 =Ly =3 2

Ve A —2

L = 6!
@"\/5 (D) (£ i9)

Wa: WMeE =2

Poc C2~i%

WA= v}::O

RN

(x ?—\(x*l\ (x *33
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Find all the asymptotes and zeros of y=

=7
ZLeos: ( ¢, o)
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Find the extremes of y= ’;2 7 algebraically.
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10.  List all the traits and sketch y= A Z_12

Domain: X # -2 2 Range: Aco Caac

X-Intercepts{/' %, ) ( Yy o) Y-Intercepts: (O( )

VAs: X=-21 POEs: (2, 2

End Behavior: - Extremes: ( ~ 122,71, 32
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11. List all the traits and sketch y= =7

Domain: » :‘g;"ﬁ Range: Lﬁ@(‘o&\\)\) —‘; ,oO)
X-Intercepts: @) (j""(\ d) Y-Intercepts: (O, ‘Q/ ?)
VAs: xx =743 POEs: pocé
End Behavior: a = Extremes: (A: &z ?)
r\ \
\\\
V' \




Bmm——

12. List all the traits and sketch f(x)=-x*+x*+41x*-105x on

Domain: A Prace

X-Intercepts: (D| o) (3, D) (-3.9)
SFe)

VAs: 1 ovIE
End Behavior: \/ \'f

Range: y € (~ $89.551]
Y-Intercepts: (©, o)
POEs: Qe

Extremes: ("‘-(- Lild? w;z‘g'?z)
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